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1. Work out 48 x 7

You may use the 7’s row of the times table grid:

You must show your workings out.

4
4 0 X 7 = “hint 4xT=...
7 _
LoxX T =
4 8 7 =
Lo
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2. Work out 39 x 9

You may use the 9’s row of the times table grid:

You must show your workings out.

3
3 0 X 9 = + hint 3x9=...
9 _
X 9 =
39 9 =
2 e,
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3. Work out 26 x 8

You may use the 8’s row of the times table grid:

You must show your workings out.

2
2 0 X 8 = < hint 2x8=...
8 _
X 8 =
2 6 8 =
3
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4. Work out 88 x 6

You may use the 6’s row of the times table grid:

You must show your workings out.

8
8 0 X 6 = < hint 8x6=...
6 “ 6 =
8 8 6 =
A
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Answers

1. 336
2. 351
3. 208

4. 528
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